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struct node *next;
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int data;

struct node *next;
} node;

node *newNode; 5 O
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#include <stdio.h> \
o VT —EZEREELS S typedef struct {
int data;
= ZIIEHE 5L struct node *next;
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@ head = (node *) malloc(sizeof(node))i
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void insertNodeFront(node *head, node *newNode)

{

newNode->next = head->next;
head->next = newNode;
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void insertNodelndex(int index, node *head, node *newNode)

{
int count = 0;
node *current = head;
while(count<index && current->next != NULL){
current = current->next;
count = count + 1;

}

newNode->next current->next;
current->next newNode;
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%}ﬁ ENEE Insert Node E void insertNodeEnd(node *head, node *newNode)
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;E LL /\— node xcurrent = head;
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current = current->next,;
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void insertNodeFront(node *head, node *newNode){ EU nuIJ-'_I
newNode->next = head->next;
head->next = newNode; o .
} Vgld insertNodelndex(int index, node *head, node *newNode){
- Int count = O;

\_

node *current = head,;

| 8 dice while(count<index && current->next '= NULL){
current = current->next;

= count = count + 1;

void insertNodeEnd(node *head, node *newNode){

_ . }
n0(_je *current = head, newNode->next = current->next:
while(current->next != NULL) { current->next = newNode:

current = current->next; }

}

newNode->next = current->next;
current->next = newNode;
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vold deleteNodeFront(node *head)

{

node * current = head->next;
head->next = current->next;
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int count = 0;

L E:| i node *prev;
)N\ = ED Mm node *current = head;

while(count < index &§& current->next != NULL) {

prev = current;
current = current->next;

count++;
}
v->next = t->next;
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(Vo id deleteNodeEnd(node *head)
{

node *current = head;

ED node *prev;
fﬁi n while(current->next != NULL) {

prev = current,;
current = current->next,;

}

prev->next = NULL;
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current = head->next;
head->next = current->next;

}
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oid deleteNodeEnd(node *head){ = |
{ 1
node *prev; / \

node *current = head;
while(current->next != NULL) {
prev = current,
current = current->next;

}

\i>prev—>next

= NULL;
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void deleteNodelndex(int index, node *head){

{
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int count =
node *prev;
node *current = head;

while(count < index && current->next !=

NULL) {
prev = current,;
current = current->next;
count++;

}

prev->next = current->next,;
current->next = NULL;
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void deleteNodeFront(node *head){ ED IJ__—I Hﬁ” B/% - FEﬁ
* — _ . e Y e
node currerlt heaad >next., void deleteNodelndex(int index, node *head){ Bl %J_'_I
head->next = current->next; int count = O:
I}free(current); | node *currer;t = head;

= while(count < index && current->next '= NULL) {
i prev = current;

{1 8d i cel| current = current->next;

i count++;

void deleteNodeEnd(node *head){ - }
node *current = head; 7l \

: " prev->next = current->next;
-> 1=
while(current r_lext I= NULL) { ST e = L
prev = current;

f t);
current = current->next; ! ree(current); |
}
prev->next = NULL;
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void traversalNode(node *head)

{

I node *current = head->next;

|while(current = NULL) {9
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|current = current->next; | ikl

}

}
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int findNode(int num, node *head) RERNEA ﬂ%ﬁ:#J@?
{ \

node *current = head->next;

il

while(current != NULL) {

if (current->num == num) {
printf("find num %d in %d\n",current->num,index);

return 1;
1

current = current->next;

}
return O; A BRINEMES T BT
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int getLength(node *head){
int count = 0;

ZHETEL Find Node
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node *current = head->next;

while(current != NULL) {

count++;

current = current->next;

}

return count;

}
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